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随机程序：
import random

random.seed(20222421)

x=random.sample(range(1,49),6)

x.sort()

print(x)

y=random.sample(range(1,20),3)

y.sort()

print(y)

z=random.sample(range(1,4),1)

z.sort()

print(z)

运行结果

[14, 20, 33, 35, 43, 48]

[1, 2, 12]

[1]

基础题：

14
import random

numbers = [random.randint(1, 20) for _ in range(50)]

count = {}

for i in numbers:

    if i in count:

        count[i] += 1

    else:

        count[i] = 1

for num in range(1, 21):

    c = count[num]

    print(f"数字 {num} 出现 {c} 次, 概率为 {c / 50}")

20

count = {}

for i in range(1, 101):

    if i % 2 == 0:

        count[i] = int(i * i / 2)

    else:

        count[i] = int((i * i - 1) / 2)

for i in range(1, 101):

    print(count[i])

33

num = int(input("查第几个？"))

if num == 1:

    number=[0]

elif num == 2:

    number=[0, 1]

else:

    number = [0, 1]

    for i in range(2, num):

        number.append(number[i-1] + number[i-2])

print(number)

35

a = 1.01

b = 0.99

c = a**365 - b**365

print(c)

43

import random

holes = [1, 2, 3, 4, 5]

fox = random.choice(holes)

while True:

    print("墙上的洞口:", holes)

    human_choice = int(input("请输入洞口编号："))

    if human_choice == fox:

        print("抓到了狐狸！")

        break

    else:

        print("没有抓到狐狸，狐狸跳到了隔壁的洞里")

        print(fox)

        if 1 < fox < 5:    fox = fox + random.choice([1, -1])

        elif fox == 1:     fox = fox+1

        elif fox == 5:     fox = fox-1

48

import random

import time

# 列表推导式

start = time.time()

random_list = [random.randint(1, 9999) for _ in range(1000)]

count = sum(str(num) == 88 for num in random_list)

print(f"有 {count}个88")

print(f"花了{time.time() - start} 秒")

print(random_list[:10])

# 元组生成器

start = time.time()

random_tup = (random.randint(1, 9999) for x in range(1000))

count = sum(str(num) == 88 for num in random_tup)

print(f"有 {count}个88")

print(f"花了{time.time() - start} 秒")

print(tuple(random_tup)[:10])
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def bubble_sort(example):

    n = len(example)

    for ii in range(n):

        for j in range(0, n - ii - 1):

            if example[j] > example[j + 1]:

                example[j], example[j + 1] = example[j + 1], example[j]

    return example

arr = [29, 12, 19, 37, 14]

sorted_arr = bubble_sort(arr)

print("Sorted array is:")

for i in range(len(sorted_arr)):

    print("%d " % sorted_arr[i])
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def selection_sort(arr):

    n = len(arr)

    for i in range(n):

        min_idx = i

        for j in range(i + 1, n):

            if arr[j] < arr[min_idx]:

                min_idx = j

        arr[i], arr[min_idx] = arr[min_idx], arr[i]

    return arr

arr = [64, 25, 12, 22, 11]

sorted_arr = selection_sort(arr)

print("Sorted array:")

for num in sorted_arr:

    print(num)
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scores = [89, 76, 50, 94, 45, 67, 59, 78, 82]

low60 = [score for score in scores if score < 60]

print(low60)
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